HOMEWORK #2

Name:
_____________________________________________

Fairfield Manufacturing Company (“FMC”) is the issuer of the following Corporate Loan money terms:

Money Terms:

	Amount:
	$ 150 million

	Interest:
	Float, 6 month LIBOR + 400 bps

	Term:
	5 years

	Payment Frequency:
	2 interest payments per year

	Amortization:
	1-4 years: $0 , Yr6: $ 150 million 


Given that FMC vulnerable to interest rate rise, FMC is trying to decide whether to enter into a Float to Fixed SWAP agreement for half it’s Debt.
FMC entered into the following SWAP agreement: with Counter Party XYZ: 
	Amount:
	$ 75 million

	Interest:
	5.25% Fixed

	Term:
	5 years

	Payment Frequency:
	2 interest payments per year

	Amortization:
	1-4 years: $0 , Yr6: $ 75 million 


Current 6-month LIBOR Rate is 1.0% and the following table is showing the LIBOR Forwards for the next 5 years:

	Term

(6-month)
	LIBOR

Rate

(%)
	
	Term

(6-month)
	LIBOR

Rate

(%)

	0
	1.00
	
	5
	2.15

	1
	1.20
	
	6
	2.40

	2
	1.40
	
	7
	2.85

	3
	1.65
	
	8
	3.20

	4
	1.95
	
	9
	3.60


1. Show FMC’s unhedged and hedged cash debt obligations for the entire Debt for 5 years and the benefits/loses due to the SWAP. 
2. Calculate FMC’s annual cost of debt (effective rate %) unhedged and hedged position for the entire debt obligation ($150 million, cf1-10).
